HW #2
SP211 Vanhoy

Due Tues 8 Sept

Ten Book problems

Serway Ch3 Problems: 31, 49, 57

Ch4 Problems: 11, 16aonly, 17, 18, 25, 26, 31

Seven multiple choice

1. The acceleration of a car is zero when it is:
a) turning left at constant speed. %
traveling up a long straight incline at constant speed.
c) topping the crest of a hill.st
d) bottoming out at the lowest point of a valley. %
e) speeding up as it descends a long straight decline.

2. A person standing at the edge of a cliff throws one ball straight up and another ball strai ght
down at the same initial speed. Neglecting air resistance, the ball to hit the ground below the
cliff with the greater speed is the one initially thrown A
a) upward f .
b) downward ! ;’
neither of the above ‘

[
A

3. You are throwing a ball straight up in the air. At the highest point, the ball's
a) velocity and acceleration are zero. X .
|

b) velocity is nonzero but its acceleration is zero X
¢) pcceleration is nonzero, but its velocity is zero \

. . Y
velocity and acceleretion are both nonzero :

-
\I

4. A package is dropped from a plane flying at constant velocity parallel to the ground. The
package will:

a) fall behind the plane vov(é@é nNe \ec\
b) Jremain directly below the plane until hitting the ground o\ rcs?‘gro.\nce_

¢) move ahead of the plane
d) it depends on the speed of the plane




5. An object moves at constant speed once aroud a circle. Which of the following statements is
true?

a) it displacement and acceleréﬁon are both zero.

b) its average speed is zero X

¢)_its displacement is nonzero and its acceleYation is zero
'ts displacement is zero.

6. Which of the following statements is true for a particle in uniform circular motion?
a) its velocity and acceleration vectors are always parallel X
b) lits velocity and acceleration vectors are always perpendicular
C) its acceleration vector is constant. X
d) its velocity vector is constant. X bt chaw §e I ectig s

7. A plane flies northeast with respect to the ground at 500 km/h. A wind is blowing with speed
100 km/h due south. The airspeed of the plane is A\
a) 500 km/h
b) 525 km/h
C
d) 600 km/h
e) 625 km/h
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